ON THE OSCILLATORY NATURE OF PERTURBED SECOND ORDER NONLINEAR DIFFERENTIAL EQUATIONS WITH DAMPING

Juan E. Nápoles

Universidad de la Cuenca del Plata, Lavalle 50, 3400 Corrientes, Argentina

Dedicated to Professor Hans Sachs on his 60th birthday

Received: June 2000

MSC 2000: 34 C 10, 34 C 15; 34 D 05

Keywords: Second order nonlinear differential equations, oscillations.

Abstract: In this paper, we present some criteria on the oscillation of solutions of the differential equation with damping $(p(x)y')' + q(x)f(x,y,y')y' + g(x,y) = R(x,x,x'), x \in [x_0,\infty)$, under suitable assumptions.

Consider the second order nonlinear differential equation with damping:

(1)
$$(p(x)y')' + q(x)f(x,y,y')y' + g(x,y) = R(x,y,y'), \quad x \in [x_0,\infty),$$

where the functions involved are continuous and satisfying $p:[x_0,\infty) \to \mathbb{R}$, with $x_0 \geq 0$; $q:[x_0,\infty) \to [0,\infty)$; $f:[x_0,\infty) \times \mathbb{R}^2 \to \mathbb{R}$; $g:[x_0,\infty) \times \mathbb{R} \to \mathbb{R}$ and $R:[x_0,\infty) \times \mathbb{R}^2 \to \mathbb{R}$. For all $y \neq 0$ and for $x \in [x_0,\infty)$ we assume that there exists continuous functions $k:\mathbb{R} \to \mathbb{R}$ and $r,s:[x_0,\infty) \to \mathbb{R}$ such that

(i)
$$yk(y) > 0$$
, $k'(y) \ge c > 0$; and

$$\frac{g(x,y)}{k(y)} \ge r(x), \ \frac{R(x,y,y')}{k(y)} \le s(x) \text{ for } y \ne 0.$$

A regular solution of (1) which is defined for all large x is called oscillatory, if it has no last zero, otherwise it is said to be nonoscillatory. Thus a nonoscillatory solution is eventually positive or negative. The equation (1) is oscillatory if all its solutions are oscillatory. We say that (1) is sublinear if k(y) satisfies

(ii)
$$0 < \int\limits_0^{\varepsilon} \frac{dz}{k(z)} < \infty, \quad 0 < \int\limits_0^{-\varepsilon} \frac{dz}{k(z)} < \infty, \quad \varepsilon > 0.$$

(1) is superlinear if k(y) satisfies

(iii)
$$0 < \int_{\varepsilon}^{\infty} \frac{dz}{k(z)} < \infty, \quad 0 < \int_{-\varepsilon}^{-\infty} \frac{dz}{k(z)} < \infty, \quad \varepsilon > 0.$$

(1) is a mixed type if k(y) satisfies

(iv)
$$0 < \int_{0}^{\infty} \frac{dz}{k(z)} < \infty$$
, $0 < \int_{0}^{-\infty} \frac{dz}{k(z)} < \infty$.

Yeh [24] considered equation (1) with $p \equiv 1$ and $f \equiv 1$, that is

(2)
$$y'' + q(x)y' + r(x)y = 0,$$

where $q, r \in C([x_0, \infty), (-\infty, \infty)), yg(y) > 0$ and $g'(y) \ge k > 0$ for $y \ne 0$ and proved that

$$\lim_{x \to \infty} \sup \int_{x_0}^x (t-s)^{n-1} sq(s) ds = \infty,$$

$$\lim_{x\to\infty}\frac{1}{x^{n-1}}\int\limits_{x_0}^x s\left[\left(t-s\right)\left(h(s)-\frac{1}{n}\right)+n-1\right]^2(t-s)^{n-3}ds<\infty,$$

for some integer $n \geq 3$ are sufficient conditions in the oscillation of (2).

In [23] Yan has discussed the oscillatory behaviour of regular solutions of linear equation (py')' + q(x)y' + r(x)y = 0, under initial assumptions on p, q and r, and considering that

$$\int_{-\infty}^{+\infty} \frac{dx}{p(x)} = +\infty.$$

Nagabuchi and Yamamoto (see [17]) extended and improves Yeh's result to the equation

(3)
$$(p(x)y')' + q(x)y' + r(x)g(y) = 0.$$

Recently, by exploiting more fully a simple "completing square" and a differential inequality, Elabassy [5] has given sufficient conditions for the oscillation of a broad class of second order nonlinear equations of the type

$$(p(x)y')' + h(x)f(y)y' + \Psi(x,y) = H(x,y,y'),$$

under suitable conditions. It is clear that the above equation is a simple case of equation (1). For the other related results, we refer the reader to Butter [2], Elabassy [4], Elbert [6], Elbert and Kusano [7], Grace and Lalli [8], [9], Graef, Rankin and Spikes [10] and Nápoles [18]. In this paper, we present some criteria on the oscillation of solutions of the differential equation (1) under suitable assumptions. As a consequence we are able to extend and improve some well known oscillation results. The accuracy of these results have been illustrated by some examples.

Theorem 1. Suppose that (i)-(ii) hold. In addition, assume that

- (v) f is bounded from below, i.e. $f \geq -c$, c > 0 for $(x, y, y') \in \mathbb{R}^3$,
- (vi) p is a bounded function for $x \ge x_0$, i.e., $0 < p(x) \le a$, a > 0,
- (vii) there exists a continuously differentiable function u(x) on $[x_0,\infty)$ such that u(x)>0, $u'(x)\geq 0$ and $u''(x)\leq 0$ on $[x_0,\infty)$, and $\gamma(x)=u'(x)p(x)+cu(x)q(x)\geq 0$, $\gamma'(x)\leq 0$ for $x\geq x_0$,

(viii)
$$\lim_{x\to\infty}\inf\int_{x_0}^x u(z)(r(z)-s(z))dz>-\infty,$$

(ix)
$$\lim_{x \to \infty} \sup \left(\int_{x_0}^x \frac{dz}{u(z)} \right)^{-1} \int_{x_0}^x \frac{1}{u(z)} \int_{x_0}^z u(v)(r(v) - s(v)) dv dz = \infty.$$

Then equation (1) is oscillatory.

Proof. Let y be a nonoscillatory solution of the differential equation (1). Without loss of generality, this solution can be supposed to be such that $y(x) \neq 0$ on $[X, \infty)$ for some $X \geq x_0$. Furthermore, we observe that the substitution z = -y transforms (1) into the equation

$$(pz')' + qf^*z' + g^* = R^*,$$

where $f^* = f(x, -z, -z')$, $g^* = -g(x, -z)$, $R^* = R(x, -z, -z')$ are subject to same conditions as f, g and R respectively. That remark is valid for the function k. So, there is no loss of generality to assume that y(x) > 0 for all $x \ge X$.

Let w(t) be defined by

$$w(x) = \frac{u(x)p(x)y'(x)}{k(y(x))}$$
 for all $x \ge X$.

From (1) and the above expression we obtain that

$$w'(x) \leq rac{\gamma(x)y'(x)}{k(y(x))} + u(x)(s(x) - r(x)) - rac{w^2(x)k'(y(x))}{u(x)p(x)}.$$

Consequently, integrating from X to x, we obtain

(4)
$$\int_{X}^{x} u(z)(r(z) - s(z))dz \le$$

$$\le -w(x) + w(X) + \int_{X}^{x} \frac{\gamma(z)y'(z)}{k(y(z))} dz - \int_{X}^{x} \frac{w^{2}(z)k'(y(z))}{u(z)p(z)} dz.$$

The integral $\int_X^x \frac{\gamma(z)y'(z)}{k(y(z))} dz$ is bounded above. This can be seen by applying the Mean Value Theorem, for each $x \geq X$ there exists $\zeta \in [X,x]$ such that $\int_X^x \frac{\gamma(z)y'(z)}{k(y(z))} dz = \gamma(X) \int_{y(X)}^{y(\zeta)} \frac{dz}{k(z)} \leq k_1$, where $k_1 = \gamma(X) \int_{y(X)}^{\infty} \frac{dz}{k(z)}$. Hence, we have from (4)

(5)
$$\int_{X}^{x} u(z)(r(z) - s(z))dz \leq -w(x) + k_2 - \int_{X}^{x} \frac{w^2(z)k'(y(z))}{u(z)p(z)}dz.$$

where $k_2 = k_1 + w(X)$. Or, by virtue of condition (i)

(6)
$$\int_{X}^{x} u(z)(r(z) - s(z))dz \leq -w(x) + k_{2} - c \int_{X}^{x} \frac{w^{2}(z)}{u(z)p(z)}dz.$$

Now, we consider the behaviour of x'.

CASE 1. y' is oscillatory. Then, there exists an infinite sequence $\{x_n\}$ such that $x_n \to \infty$ as $n \to \infty$ and $y'(x_n) = 0$. Thus, (6) gives

$$\int\limits_X^{x_n} u(z)(r(z)-s(z))dz \leq k_2-c\int\limits_X^{x_n} rac{w^2(z)}{u(z)p(z)}dz.$$

From (viii), we get $\frac{w^2(z)}{u(z)p(z)} \in L^1[X,\infty)$. Thus, there exists a posi-

tive constant N such that $\int_{X}^{x_n} \frac{w^2(z)}{u(z)p(z)} dz \leq N$ for every $x \geq X$. From this and using the Schwartz inequality we obtain that $-\int_{X}^{x_n} \frac{w(z)}{u(z)} dz \leq 1$ $\leq \sqrt{Na} \left(\int_{X}^{x} \frac{dz}{u(z)}\right)^{\frac{1}{2}}$. Furthermore, (6) gives $\int_{X}^{x_n} u(z)(s(z) - r(z)) dz \leq 1$ $\leq -w(x) + k_2$, hence

$$(7) \qquad \int\limits_X^x \frac{1}{u(z)} \int\limits_X^z u(v)(r(v)-s(v)) dv dz \leq -\int\limits_X^x \frac{w(z)}{u(z)} dz + k_2 \int\limits_X^x \frac{dz}{u(z)}.$$

Assumptions (vii) implies that $u(x) \leq \gamma + \mu x$ for all large x, where λ and μ are positive constants. This ensures that $\int_{x_0}^{\infty} \frac{dz}{u(z)} = \infty$. This fact and (7) implies that

$$\int_X^x \frac{1}{u(z)} \int_X^z u(v)(r(v) - s(v)) dv dz \le$$

$$\le \sqrt{Na} \left(\int_X^x \frac{dz}{u(z)} \right)^{\frac{1}{2}} + k_2 \int_X^x \frac{dz}{u(z)} \le \left(\sqrt{Na} + k_2 \right) \int_X^x \frac{dz}{u(z)}.$$

Dividing by $\int_X^x \frac{dz}{u(z)}$ and take the upper limit as $x \to \infty$, we obtain a contradiction to (ix).

CASE 2. y'(x) > 0 for $x \ge X_1 > x_0$. Then, it follows from (6) that $\int_X^{x_n} u(z)(r(z) - s(z))dz \le k_2$ and consequently the desired contradiction to (ix).

CASE 3. y'(x) < 0 for $x \ge X_2 > x_0$. If $\frac{w^2(z)}{u(z)p(z)} \in L^1[X,\infty)$, then we can follow the procedure of Case 1 to arrive at a contradiction to (ix). Suppose now that $\frac{w^2(z)}{u(z)p(z)} \notin L^1[X,\infty)$. From (viii) and (5) we get for some constant $\beta > 0$ that

(8)
$$-w(x) \ge \beta + \int_{X_2}^x \frac{w^2 k'(y(z))}{u(z)p(z)} dz \text{ for every } x \ge X_2.$$

Since $\frac{w^2(z)}{u(z)p(z)} \notin L^1[X,\infty)$, there exists $X_3 \geq X_2$ such that $M = \beta + \int_{X_2}^{X_3} \frac{w^2(z)k'(y(z))}{u(z)p(z)} dz > 0$. Thus (8) ensures w(x) is negative on $[X_2,\infty)$. By using (8), we have from (5) that

$$-w(x)\left[eta+\int\limits_{X_2}^xrac{w^2(z)k'(y(z))}{u(z)p(z)}dz
ight]^{-1}\geq 1.$$

This inequality yields

$$\log \left\lceil \frac{\left\{\beta + \int\limits_{X_2}^x \frac{w^2(z)k'(y(z))}{u(z)p(z)}\right\}}{M} \right\rceil \ge \log \left[\frac{k(y(X_3))}{k(y)}\right].$$

From here we obtain

$$eta+\int\limits_{X_2}^xrac{w^2(z)k'(y(z))}{u(z)p(z)}dz\geqrac{M^*}{k(y)} ext{ for every } x\geq X_3, ext{ with}$$
 $M^*=Mk(y(X_3))>0.$

Hence, from (8) we derive that $-w(x)k(y) \geq M^*$, and therefore

$$y(x) \le y(X_3) - M^* \int_{X_3}^x \frac{dz}{u(z)p(z)} \le y(M_3) - \frac{M^*}{a} \int_{X_3}^x \frac{dz}{u(z)},$$

follows, that $y(x) \to -\infty$ as $x \to \infty$, a contradiction. This completes the proof. \Diamond

Corollary 1. Equation (1) is oscillatory if (ii), (vi) hold, $\gamma(x) = \alpha x^{\alpha-1}p(x) + cx^{\alpha}q(x) \geq 0$ and $\gamma'(x) \leq 0$ for some $\alpha \in [0, 1]$,

$$\begin{split} & \lim_{x \to \infty} \inf \int\limits_{x_0}^x z^\alpha (r(z) - s(z)) dz > -\infty, \\ & \lim_{x \to \infty} \frac{1}{\log x} \int\limits_{x_0}^x \frac{1}{z} \int\limits_{x_0}^z v(r(v) - s(v)) dv dz > \infty, \quad \text{if } \alpha = 1, \\ & \lim_{x \to \infty} \frac{1}{x^{1-\alpha}} \int\limits_{x_0}^x \frac{1}{z^\alpha} \int\limits_{x_0}^z v^\alpha (r(v) - s(v)) dv dz > \infty, \quad \text{if } 0 \le \alpha < 1. \end{split}$$

Remark 1. The existence of function k(y) is very closet to the oscillatory nature of equation (1). So, if assumptions (i), (ii) and (vi) are not fulfilled, we can exhibit equations that have nonoscillatory solutions. For example, the equation

$$\left(e^{\left(rac{x^3}{3}+3x
ight)}y'
ight)'+2(x^2+1)e^{\left(rac{x^3}{3}+3x
ight)}y=0,$$

has the nonoscillatory solution $y(x) = e^{-2x}$ (see [19], [20], [21]).

Remark 2. The Th. 1 is consistent with Th. 1 of [19], referent to the oscillatory behaviour of equation y'' + a(x)f(y)h(y') = 0, with results of [22] on qualitative nature of equation (3) with $p \equiv 1$, with Atkinson's result (see [1]) on equation

(9)
$$y'' + r(x)|y|^{\gamma}\operatorname{sgn} y = 0$$

and cover the Th. of Chen [3], refer to the equation (1) with $p \equiv 1$, $q \equiv 0$ and $g(x, y) - R(x, y, y') = yF(x, y^2, {y'}^2)$.

By the other hand, if we consider the equation with q(x) non-negative and continuous on $[0, \infty)$ and γ is any real number satisfying $0 < \gamma < 1$, the Th. 1 completes the results of [11], [12] concerning with nonoscillatory solutions of equation (9) and [14], [15] and [16], refer to the oscillatory behaviour of equation (9).

In the following result we do not assume that k(y) satisfies condition (ii). So, it may be applicable for linear, sublinear or superlinear differential equations.

Theorem 2. Suppose that (i) and (v) hold. Moreover, assume that

(x) there exists a differentiable function $\phi: [x_0, \infty) \to (0, \infty)$ and continuous real functions h, H on $D := \{(x, z) : x \geq z \geq x_0\}$ and H has a continuous and nonpositive partial derivative on

D with respect to the second variable such that H(x,x) = 0 for $x \ge x_0$, H(x,z) > 0 for $x > z \ge x_0$, and

(xi)
$$-\frac{\partial H(x,z)}{\partial z} = h(x,z)\sqrt{H(x,z)} \text{ for all } (x,z) \in D.$$

Then equation (1) is oscillatory if

(xii)
$$\lim_{x \to \infty} \sup \frac{1}{H(x,x_0)} \int_{x_0}^x \left\{ \phi(z)H(x,z)(r(z)-s(z)) - \frac{1}{4k} \left[p(z)\phi(z) \left[h(x,z) - \left(\frac{cq(z)}{p(z)} + \frac{\phi'(z)}{\phi(z)}\right) \sqrt{H(x,z)} \right]^2 \right] \right\} dz = \infty.$$

Proof. Let y(x) be a nonoscillatory solution of (1), say y(x) > 0 for $x \ge x_0$. Taking $w = \frac{\phi(x)p(x)y'(x)}{k(y(x))}$ we obtain from equation (1) that

$$w'(x) \leq \phi(x)(r(x)-s(x)) + \left(rac{cq(z)}{p(z)} + rac{\phi'(x)}{\phi(x)}
ight)w(x) - rac{kw^2(x)}{p(x)\phi(x)}.$$

Hence, for all $x \geq x_0$, we have

$$-\int_{x_{0}}^{x} \phi(z)H(x,z)(r(z)-s(z))dz \le -\int_{x_{0}}^{x} H(x,z)w'(z)dz + \int_{x_{0}}^{x} H(x,z)\left(\frac{cq(z)}{p(z)} + \frac{\phi'(z)}{\phi(z)}\right)w(z)dz - k\int_{x_{0}}^{x} \frac{H(x,z)w^{2}(z)}{p(z)\phi(z)}dz =$$

$$= H(x,x_{0})w(x_{0}) - \int_{x_{0}}^{x} \left(-\frac{\partial H}{\partial z}\right)w(z)dz + \int_{x_{0}}^{x} H(x,z)\frac{cq(z)}{p(z)} + \frac{\phi'(z)}{\phi(z)}\right)w(z)dz - k\int_{x_{0}}^{x} \frac{H(x,z)w^{2}(z)}{p(z)\phi(z)}dz =$$

$$= H(x,x_{0})w(x_{0}) - \int_{x_{0}}^{x} \left[\left(h(x,z)\sqrt{H(x,z)} - \frac{cq(z)}{p(z)} + \frac{\phi'(z)}{\phi(z)}\right)\right)w(z) + \frac{kH(x,z)w^{2}(z)}{p(z)\phi(z)}dz =$$

$$-H(x,z)\left(\frac{cq(z)}{p(z)} + \frac{\phi'(z)}{\phi(z)}\right)w(z) + \frac{kH(x,z)w^{2}(z)}{p(z)\phi(z)}dz =$$

$$=H(x,x_0)w(x_0)-\int\limits_{x_0}^x\left[\sqrt{\frac{kH(x,z)}{p(z)\phi(z)}}w(z)-\frac{\sqrt{p(z)\phi(z)}}{2\sqrt{k}}\left(h(x,z)-\sqrt{H(x,z)}\left(\frac{cq(z)}{p(z)}+\frac{\phi'(z)}{\phi(z)}\right)\right)\right]^2dz+\frac{1}{4k}\int\limits_{x_0}^xp(z)\phi(z)\left(h(x,z)-\sqrt{H(x,z)}\left(\frac{cq(z)}{p(z)}+\frac{\phi'(z)}{\phi(z)}\right)\right)^2dz\leq \\ \leq H(x,x_0)w(x_0)+\frac{1}{4k}\int\limits_{x_0}^xp(z)\phi(z)\left(h(x,z)-\sqrt{H(x,z)}\left(\frac{cq(z)}{p(z)}+\frac{\phi'(z)}{\phi(z)}\right)\right)^2dz.$$

Hence,

$$rac{1}{H(x,x_0)}\int\limits_{z}^{z}\left\{\phi(z)H(x,z)(s(z)-r(z))-
ight.$$

$$-\frac{1}{4k}\left[p(z)\phi(z)\left[h(x,z)-\left(\frac{cq(z)}{p(z)}+\frac{\phi'(z)}{\phi(z)}\right)\sqrt{H(x,z)}\right]^2\right]\bigg\}dz\leq w(x_0),$$

a contradiction with (xii). This completes the proof. \Diamond

Corollary 2. Suppose that condition (xii) in Th. 2 can be replaced by

$$\lim_{x\to\infty}\sup\frac{1}{H(x,x_0)}\int\limits_{x_0}^{\infty}\phi(z)H(x,z)(r(z)-s(z))dz=\infty,$$

and

$$\lim_{x \to \infty} \sup \frac{1}{H(x, x_0)} \int_{x_0}^x s(z) \phi(z) \cdot$$

$$-\left(h(x,z)-\sqrt{H(x,z)}\left(rac{cq(z)}{s(z)}+rac{\phi'(z)}{\phi(z)}
ight)
ight)^2dz\leq\infty.$$

Then the conclusion of Th. 2 holds.

Remark 3. Using the continuous functions $H(x, z) = (x - z)^{n-1}$, $x > z \ge x_0$, where n is an integer with n > 2, and h(x, z) = (n - 1)

 $(x-z)^{(n-3)/2}$, $x>z\geq x_0$, the results in [13], [17], [22], [23] (the Th. 1 on equation (3) with g(u)=u and Cor. 1 on equation (p(x)y')'+r(x)y=0, $x\in[0,\infty)$), and [24] can be obtained from Th. 2 as special cases.

Remark 4. Th. 2 can be used to some cases for which some other oscillation criteria can not be used. For, example, consider the Liénard type equation

$$y'' + (1 + {y'}^{2})y' + y^{3} + y = 0.$$

If we take H(x, z), h(x, z) as above and $\phi \equiv 1$, then all the hypotheses of Th. 2 are satisfied, whereas to the best of our knowledge no criteria can cover this result, taking into account the unboundedness of f (see, [19] and [20] for further details).

Remark 5. The Ths. 1 and 2 contains, in the case f(x, y, y') = f(y), the results obtained in [5] for a simple case of equation (1).

References

- [1] ATKINSON, F. V.: On second order nonlinear oscillations, *Pacific J. Math.* **5** (1955), 643-647.
- [2] BUTLER, G. J.: Integral averages and the oscillation of second order ordinary differential equations, SIAM J. Math. Anal. 11 (1980), 190-200.
- [3] CHEN, Y.-M.: An oscillation criterion for the second order nonlinear differential equation, Quart. J. Math. Oxford, 24/2 (1973), 165–168.
- [4] ELABBASY, E. M.: Oscillatory behaviour of solutions of forced second order differential equations with alternating coefficients, Appl. Math. and Comp. 60 (1994), 1–13.
- [5] ELABBASY, E. M.: On the oscillation of perturbed second order nonlinear damped differential equations, Analele Şt. A.I. Cuza, 42 (1996), 391-404.
- [6] ELBERT, A.: Oscillation and nonoscillation theorems for some nonlinear ordinary differential equations, Lectures Notes in Math. 964 (1982), 187–212.
- [7] ELBERT, A. and KUSANO I.: Oscillation and nonoscillation theorems for a class of second order quasilinear differential equations, *Acta Math. Hung.* **56** (1990), 325–336.
- [8] GRACE, S. R. and LALLI B. S.: Oscillation theorems for certain second order perturbed nonlinear differential equations, J. Math. Anal. Appl. 77 (1980), 205-214.
- [9] GRACE, S. R. and LALLI, B. S.: Oscillation theorems for second order superlinear differential equations with damping, J. Austral. Math. Soc. 53 (1992), 156-165.

- [10] GRAEF, J. R., RANKIN, S. M. and SPIKES, P. W.: Oscillation theorems for perturbed nonlinear differential equations, J. Math. Anal. Appl. 65 (1978), 375-390.
- [11] HAUTUS, M. L. J.: Uniformly asymptotic formulas for the Emden-Fowler differential equations, J. Math. Anal. Appl. 30 (1970), 680–694.
- [12] HEIDEL, J. W.: Rate of growth of nonoscillatory solutions for the differential equation $y'' + q(t)|y|^{\gamma} \operatorname{sgn} y = 0$, $0 < \gamma < 1$, Q. of Applied Math. 29 (1971), 601–606.
- [13] KAMENEV, I. V.: An integral criterion for oscillation of linear differential equations of second order, *Math. Zametki* 23 (1978), 249–251 (Russian).
- [14] MIRZOV, D. D.: Oscillations of solutions of a system of nonlinear differential equations, *Differentsialnie Uravnenija* 9 (1973), 581–583 (Russian).
- [15] MIRZOV, D. D.: The oscillations of solutions of a system of nonlinear differential equations, *Mat. Zametki* 4 (1974), 571–576 (Russian).
- [16] MIRZOV, D. D.: Oscillation properties of solutions of nonlinear differential equations, *Proc. Amer. Math. Soc.* **98** (1986), 109–112.
- [17] NAGABUCHI, Y. and YAMAMOTO, M.: Some oscillations criteria for second order nonlinear ordinary differential equations with damping, *Proc. Japan Acad.* **64** (1988), 282–285.
- [18] NÁPOLES, J. E.: On oscillatory behaviour of some second order nonlinear differential equation, *Panamerican J. of Math.* 9 (1999), 35-53.
- [19] REPILADO, J. A. and RUIZ, A. I.: On some properties of solutions of equation u + a(t)f(u)h(u') = 0, Revista Ciencias Matematicas, Universidad de la Habana 8 (1987), 55-60 (Spanish).
- [20] REPILADO, J. A. and NÁPOLES, J. E.: On the continuability and non-oscillation of solutions of bidimensional system $x = \alpha(y) \beta(y)f(x)$, y' = -a(t)g(x)'', Revista Ciencias Matematicas, Universidad de la Habana 15 (1994), 155–160 (Spanish).
- [21] REPILADO, J. A. and NÁPOLES, J. E.: Continuability, oscillability and boundedness of solutions of a bidimensional system, *Revista Ciencias Matemáticas*, *Universidad de la Habana* 15 (1994), 167–179 (Spanish).
- [22] RUIZ, A. I.: Behaviour of trajectories of nonautonomous systems of differential equations, PhD Thesis, Universidad de Oriente, Santiago de Cuba, 1988 (Spanish).
- [23] YAN, J.: Oscillation theorems for second order linear differential equations with damping, Proc. Amer. Math. Soc. 98 (1986), 276–282.
- [24] YEH, C. C.: Oscillation for nonlinear second order differential equations with damping term, Proc. Amer. Math. Soc. 84 (1982), 397-402.